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function f(x) = x3 — 12x + 10
At [0,3]

a) f(0)=10,f3)=1

b) f(0)=10,f(3)=1

c f(0)=10,fB3)=1

d f(0)=10,f3)=1

Question 2: find the critical numbers of
flx) =x*—8x2+7

a) __L =0 _1
X = %,x—l,x—z

b = —_ =_

) x 5 X =3

) x=-2,x=

d x=-2,x=0,x=2

Question 3: find the x coordinate at which

the function f(x) = x%e™ has a local
maximum

a) x=-2
1
b = ——
) x 5
¢ x=0
d x=2
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Question 1: find the absolute extrema of the

ANl Al (5 gl il 251 21 gl
f(x)=x3—-12x+ 10
[0,3] sl

Al syl L) s a3 22 gl
fx) =x*—8x%2+7

AU (3555 5 X ol e 29 23 Il
s abe o8f (x) = x%e 7
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Questlon 4 find the intervals where the Alall y) 35 &l y38 as ) 24 J):
function f(x) = x* — 8x2 + 10 is increasing flx) =x*—8x%+10

y
A

20—+

a) (—o0,—-2)U(0,2)

b) (—2,0)U(2,0) /\

c) (—o00,—2)U(2,) — W \2/ R

d (=2,0)U(0,2) —104

)
Question 5: find the inflection point points of alall )50 Bl aa gl 15 Jlged!
the function f(x) = x* + 12x3 — x is flx) =x*+12x3 —x

a) (-6,f(-6)),(0,£(0))

b) (-6,f(-6)),(6,f(6))

o) (0,f(),(6,f(6))

d (=6,f(=6)),(0,f(0)),(6,f(6))
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Question 6: determine where the graph of the Lot (585 Al Ol yial) e 2a ) 16 J)igmdd)
function f(x) = x* — 6x% + 2x + 3 is eV pie f(x) = x* — 8x% + 10 U
concave up v
st [
[
\ |
a) (—oo, _1) ’4 ' 7‘2 - lfﬁu I
[ \V
b) (=0, —1)U(1,0) i N
L S
c (-11) \ /I ¢ <
- -8

d) (—,0)U(0, )

_ -~ [EmEE [5]:% 7 [=]
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Question 8: A three side fence is to be built Dl il sa A (el oLy angy 18 J

next to a straight section of a river, which A ) (S A eall (e aisal) ¢ )
forms the fourth side of a rectangular region. a zbdl 56 80 [t ash Al dakaidl
There is 80 ft of fencing available. Find the el ddalaal) daliall jalaall dagll

maximum enclosed area.

a) 40 ft?

b) 60 ft?
Lo 400 e

d) 800 ft?

Question 9: suppose a forest fire spreads ina e yiin clle G o pah Je 19 J) el

Grade 72 Advance 2022-2023

circle with radius changing at a rate of Jaray ety Lo Hlad Caiat s yila (G

5 ft/min when the radius reaches 100 ft, & bl Caal dhay Laxie 5 £t /min

at what rate is the area of the burning region dakaiall dalie ) 35 Jara 58 Ld 100 ft

increasing? 43 yisall
—/ a) 200m ft?/min

b) 5007 ft?/min
c) 1000w ft?/min
d) 2000w ft?/min

. EEE orn
Mr. Ibrahim Eldabour | iglrlil = ks
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Question 10: if the cost of manufacturing x (omy Aadad x ) A8lSS il 1) 110 J) sl
items is c(x) = x3 + 20x2 + 90x + 15 find c(x) = x3 4+ 20x% +90x + 15 A&y
the marginal cost at x = 30 x = 30 e LBl sl L) oy
a) 2190

b) 3390

c) 3990

d) 4005

)
Question 77: find the general antiderivative. Al diiall 2 ) 211 Jligud)
j 8x P ] 8x g
x2+7 % x2+7

1
a) > In|x?2+7|+c

1
b) 2 In|x>+7|+c¢

c) 2mn|x®*+7|+c

Grade 72 Advance 2022-2023

d 4ln|x?+7|+c

—
Question 12: find the general antiderivative. dSall d80A 22 ) 112 J) o)
sin x sin x
jS >— dx JS >— dx
COoS* X COoS“ X
a) —5secx+c

b) 5sec’x+c

c) 5Stan’x+c

d) 5secx+c

. E*E orAD
Mr. Ibrahim Eldabour | ‘g”il = ks
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A1y S 1) anad qoda sall &ls 2 ) 113 Jlgedd)
v(t) = 8 — 6t ABhally aad Agaiall de i)
s(0) = 4 AmY) a8 sall IS

Question 13: determine the position function if
the velocity is given by v(t) = 8 — 6t and the
initial position is s(0) = 4

a) s(t)=8t—6t*+4

b) s(t) =8t—3t?+4

c) s(t)=6t>—8t+4

d s()=3t>-8t+4

Mr. Ibrahim Eldabour
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on | Question 14: compute the sum g senall ax o) 114 ) geud)
X 9 :
Y D@ +3) D@ +3)
N i=5 i=5
AN
s a) 42
&
S | b) 70
©
< c) 270
N
™~ d) 312
5]
=]
o
O | Question 15: use the given function values to D Blazal) Alal) 2 aadi) 115 J) gl
) estimate the area under the curve using left Al ddads o alasinly Jadial) Cad dalial)
endpoint evaluation. sl
X 0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8
f(x) 2.0 2.4 2.6 2.7 2.6 2.4 2.0 1.4 0.6
a) 0.97
b) 1.03
2
c) 9.7 S
Q
d 103
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Question 76: write as a single integral ey JalSS JSG e il 116 s

ff(X)dx - ff(x)dx

2
[ reax

]
J

f f(x)dx
Sf f(x)dx

5
f f(x)dx

Question 17: compute the average value of the — 5_sdll 8 allall ddaws giall dall Caveal 117 Jlgesd!
given function at the shown interval daia o)
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f(x) =4x + 3 at[0,2]

—_,
a) 7
b) 11
c) 14
d 22

[=] 55 =]

Mr. Ibrahim Eldabour . ' %

L




[ At yde A Ciual) Aan) ya £ gal

Question 78: write the given total area as an o anall Aaluall dane ) 218 )
integral or sum of integrals. The area above S 1Y SIS pan il ) JalSE B gm
the x-axis and below y = 4 — x? il Gy x ) gaall e dalidl)
y =4 —x?

2
a) (4 — x®)dx
J

2
b) j —(4 — x?)dx
22

]
J

2
c) f(4 — x3)dx
0

2
d) —(4 — x®)dx
/

Question 79 find f'(x)if

QS 3) f7(x) sl 119 Jsesd)
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x2

f(x) =j sin(3t) dt

X

(
L

a) f'(x) = 2xsin3x? — sin3x

b) f'(x) = 2xsin3x? + sin3x

c) f'(x) =sin3x — 2x sin 3x?

d) f'(x) =sin3x? —sin3x

| . Em m3m
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Question 20: evaluate

a) 3

b) 7

¢ 21
Y

d) 25

J; g(x) dx = =3 find

Grade 72 Advance 2022-2023

a) 2

b) 7

c) 8
—— d) 13

Question 21: if [, f(x) dx =5,

dagd aa gl 120 J)sesd)

3
f(x2 —2)dx
0

SO dx =5 oS 121 Pl
) ffg(x) dx = -3
4

] 2(x) — g(x) dx

1

Ao aa gl 222 J) )

Vx
b —2 ()
) e‘/E_l_C ]
<
d 2eV*+¢
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